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FEEBITILIIST
=R EF4 ifT4#r [OUT| IN | TOTAL
1B Eh H/rmT™ 41 37 78
258 & HAET™ 44 36 80
3AKRZ HE AREZEM 43 38 81
4 b EX BEFEREE 4 38 82
5% & EiEH 39 43 82
6 AH L EiEH 42 # 83
7810 B RIEER 41 42 83
8 i Kith Ml 40 44 84
9 E& K EEmh 47 38 85
10 8% IEA izl 45 40 85
"M #EHx R FESD 44 41 85
12 FyIL 4 Ml 4 4 85
13 Hep [F Boa=7 42 43 85
14 AL =& FEH 45 41 86
15 K F& EiEh 41 45 86
16 Bk Z=A ERT 41 45 86
17 KIg #Eth piiN ] 40 46 86
18 iFL x— FEM 40 46 86
19 T AN tntE T 45 42 87
20 Il & FER 44 43 87
21 f8gE % FEH 43 44 87
22 Fl & FER 39 48 87
23 A A FEM 47 41 88
24 Al FIB mlR™ 44 44 88
25 HEt —3=% MR 43 46 89
26 KR 2 RAE 48 42 90
27 =ik HE—BR  ffET™ 47 43 90
28 #hEERE B FER 45 45 90
29 FEA #¥ EiEH 45 45 90
30 @B E= KEEE™T 44 46 90
31 FH B BT 43 47 90
32 KiIx —1& FER 43 47 90
33 FEK FE EiEH 49 42 91
34 EH FE fafE™ 44 47 91
35 R HER AXEBEm 44 47 91
36 B His mlE™ 44 47 91
37 Juhf] HER RHEER 44 47 91
38 L% =8| 4 iETh 43 48 91
— LIE 378 FEEE —
39 Tl EBE Ml 49 43 92
40 EAR His FEM 49 43 92
4 2 B AEEH 45 47 92
42 "l & HrFH 44 48 92
43 Tk 1HE mEEM 46 47 93
— UE DITAT4T —
44 EF =B mR™ 45 48 93
45 HEF FNgL FEM 48 46 94
46 #5fE HA BEHH 48 46 94
47 2l 847 FEM 45 49 94
48 EEHR ke 46 49 95
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FEEBITILIIST

=R EF4 ifT4#r [OUT| IN | TOTAL
49 il RE ARM 45 50 95
508  E— M 44 51 95
51 K/JA BF KEEH 49 47 96
52 FF1H & M 48 48 96
53 R FE X=E =ET 45 51 96
54 TiH FEANBA FEM 52 45 97
55 B3 =N mE™ 48 49 97
56 2K Eih FEM 47 50 97
57 FK £ AREZEM 50 48 98
58 F Z AEEM 49 49 98
59 JkH IEA REER 47 51 98
60 =8 K& XKIRT 43 55 98
61 T BX HKR#IES 52 47 99
62 BN #X FEH 50 49 99
63 i HEE EiEh 46 53 99
64 RK = eti] 50 50 100
65 B8 E FEH 50 51 101
66 f% (EAXER ™ 45 56 101
67 BH EL XKIRT 50 52 102
68 A i EiEm 47 56 103
69 #RE [LAER EiEW 57 50 107
70 Bk FH1E X Em 51 57 108
1 B5H B fatE™ 53 56 109
72 ¥ HE B—B FTEH 57 57 114

ZHE LI R AREEM 0 0 0

REEAR BE KE=EM
RE Bk = FEM
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